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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions as directed :

1x10=10
oo firl eppTyRd PRIl Oed fors :

(a) Public Administration as a discipline
originated in UK/USA/India.
(Choose the correct answer)
S [F o1 TP S e
O /SR TSRS /SRS |
(R Te4co! AR Tferear)
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(2)

(b) Who is the editor of the book, Toward

()

8A/47

a New Public Administration : The
Minnowbrook Perspective (1971)?

(Ferrel Heady/Frank Marini/Charles
T. Goodsell)

(Choose the correct answer)

Toward a New Public Administration :
The Minnowbrook Perspective (1971)
AR (@I A=A IR 2

(Ferrel Heady/Frank Marini/Charles
T. Goodsell)

(7 Te0ol IR Tferean)

Which of the following names is
associated with the concept of ‘New
Public Management’?

(Woodrow Wilson/L. D. White/
.Christopher Hood)

(Choose the correct answer)

oo GraEd 9 RIS A ‘New Public
Management’d {9 FTS 33 ?

(Woodrow Wilson/L. D. White/
Christopher Hood)

(o= Teqch] AfR Bferear)

( Continued )

(e)

8A/47

(3)

(d) Which of the following concepts is not

associated with Scientific Management
Theory?

(Time and Motion Study/Functional
Foremanship/Rule of Thumb)

(Choose the correct answer)
O (IO YR CIT(S IREIA O TS
o 7= ?

(Time and Motion Study/Functional
Foremanship/Rule of Thumb)

(% Teaco! MR Bferear)

Who is the author of the book, The
Political Problems of an Industrial
Civilization?

The Political Problems of an Industrial
Civilization %31 oF & 2

Which of the following books is written
by Max Weber?

(The Theory of Social and Economic
Organization/ The Functions of the
Executive/ Administrative Behaviour)

(Choose the correct answer)
O] (PIY ( SCIRT 541 991 &R ?

(The Theory of Social and Economic
Organization/ The Functions of the
Executive/ Administrative Behavioun

(= Tecor iR Sferean)
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(9)

(h)

()

()
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(4)

Write a principal disadvantage of the
principle of hierarchy.

Siffey S @61 335 SR oz <= |

“Coordination is the orderly arrangement
of group effort to provide unity of action
in the pursuit of a common purpose.” It
was stated by J. D. Mooney/L. D. White/
M. P. Follet.

(Choose the correct answer)

“Coordination is the orderly arrange-
ment of group effort to provide unity
of action in the pursuit of a common
purpose.” €% FI@A (IR J. D.
Mooney/L. D. White/M. P. Follet |

(o= Teseor A1fR Sferean)

The concept of Independent Regulatory
Commission’ took birth in the country

(Fill in the blank)

Foq HEE WA RN T oW
CPTS |

(3191 372 =59 1)

Write a major difference between Public
Corporation and Department.

m@ﬁﬂwﬁmﬁwamwmw
a4 |

( Continued )

2. Answer the following questions :

(S)

2x5=10

Woq 2P Teq oI

(a) Write any two features of New Public
Administration.
Tor PP R GTe 701 ey for |

(b) Write any two merits of centralization.
FEFIR R @I 101 @39 T@e 741 |

(c) What is span of control?
s <R 52

(d) Write any two basic features of
Independent Regulatory Commission.
Foq g SarR R @ 1o 31 GRE
ot |

(e) Define Public Administration.
() | B O E R RS R[4 B |

3. Answer in brief (any four) : 5x4=20
oy a3 fran (R Greenn wifion) -
(a) Write the merits of Human Relations

(b)

8A/47

Theory.
A o g QPR 4 |

Explain the  scope of  Public
Administration.

PP #5920 <641 |
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(6)

(c) Explain the concept of New Public
Management.

T CTRP-IRZIAIR GRETCO! 17T 347 |

(d) Explain the major principles  of
Bureaucratic Theory of Public
Administration.

CTIFTTN . AEASRE o6 31 oz
BUSTISEIN

(e) Explain the importance of public
corporations.

BIA1 599 @9 1R [0 |

() Discuss the limitations of delegation.
SRR SR@ST HCA01 547 |

Answer the following questions : 10x4=40
o9 SRR ©eF oy

(@) Why is Woodrow Wilson regarded as the
father of Public Administration? Explain
the evolution of Public Administration
as a field of study. 3+7=10

o0 Tu’ SR AP SR 51 4T

F? FER [ R @ R
[T 4T

8A/47 ( Continued )

(7))

Or / 1341

What is good governance? What are its
main features? Discuss the importance
of accountability in public administra-

tion. 3+4+3=10

J-orm 52 WR | @FErmR %2
CETFEPTS TRZOR &g el $4I |

Discuss the Scientific Manageme'nt
Theory of Administration. What are its

drawbacks? 6+4=10
PP CIRIWS TEZIA] OG0l SACaDl 41 |
R SRR 6 6 2

Or / 731

What do you mean by Line Agencies?
What are the features of Line Agencies?
What are the different types of Line

Agencies? Discuss. 3+3+4=10

TR o I & @ FEER e

hﬂﬁw%ﬁ?%mmcw
& %5 2 weemsT <1

What are the different types of Chief
Executive? Discuss the administrative
functions of the Chief Executive as

general manager. 4+6=10

T e f[feq aememz & 2 a4
ARSI 331 SRR ey Sr@aE)
SHCEAOA] 47 |
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(8)

Or / 131
What is Department? Discuss the bases
of departmental organization. 4+6=10
Rerr o Redi swoom RRemz S
411

(d) What is Supervision? Discuss the

methods of supervision. 4+6=10
R 62 R TR e 3 |

Or / 1331

What is coordination in Public
Administration? What are its types?
Discuss the principles of coordination.

3+2+5=10

TP w69 TR oFeme & &2
A MR ST 347 |
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